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OPTION - A | ' |
( Plant Physiology and Metabolism ) |
Paper : BOT-HG-3016/RC-3016

(i) Transpiration is a necessary
(Fill in the blank)

Answer the following as directed : 2T (R 9O ACAEAE
iz S GeT 90 2 ~ | (zfra—v"“réﬁ‘mw
1. Choose .the correct answer of the following : (iv) What is meant by ‘antitranspirant’ ?
(any seven) 1727 ‘ , 9
vt AT @& Oeaco! A Sfvedl ¢ (Rt GFoRIEHES WE & @l AT
#rebT) | _ (v) Who proposed Active K¥ transport
(i Which of the following forms of water is rréecha:usgm for opening and closing of
absorbed by plants ? stomata :
(a) Run away water ) (a) Steward
(b) Hygroscopic water i (b) Sayre
(c) Capillary water (c) Loyd .
(d) All of the above (d) Fujino
T (INEY ST St o $Ra e SITaE STAHA W< RCD FAE (I AT
(@) IR @R AR iR o ARTE o9 AeRpiREE ?
(b) - 7@l SN2} A | (@) oS
(c) TIF Al | (b) B
(d) SoRT ACENEIT ' : () T
(i) What is root pressure ? : (d) Fe
- ele R e (vi) Name one instrument to measure the

rate of transpiration in plants.
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Tiowe Acavee 29 g 79t @Ry Szt s (b)) @R

il | « U . (@
(vii) Dieb-ack disease is caused due to ' - (d) e <Bie T

deficiency of Al
(@) zinc PR , (ix) Vernalization was discovered by
(b) copper . (a) Garner and Allard
(c) boron™ % | (b) Lysenko
(d) iron | () Kurosawa
TGRS (@5 e oreike 2 e | (d) Miller
(a) Toc e SfwRE Rl
(b)) R ' ﬁ () SRR R S
(c) & i - (b) WNIEE
(d) TR _ (c) FEGEI

(d) e

(vui) Mass flow theory of organic solute
translocation was proposed by

(x) What are thyllakoids ?
(a) Fenson :
(b) Spanner TR 2
(c) Munch (xi) Assimitatory powérs prqduced during
(d) None of the above | photosynthesis are
5 TR SIfRa%Td E 5E SIS Wi} TG | '~ (a) ATP and NADPH,

(@) CFDe - (b) H,O and O,
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2. Write short notes on the following: (any

(¢ RuDP and RuMP
four) ' - 2x4=8

(d) C5H1206 and PGAL

AT TS Bern @Rl SR
e (=2

(@) ATP SIS NADPH,
(b) H,O &% O

() RuDP W% RuMP
(d) CsHip0p SIS PGAL

(a) Osmosis

(b) Guttation

(c) - Chloroplast

(d) Krantz anatomy

(e) Types of tran'spiration
(f) Abscissic acid

_ ( Photosynthetic pigments
(xii) Respiratory quotient (RQ) is represented 9 . .

by | l g (h) Day neut_ral plants
(@ C/N k were fraIcad 5 CBiel it 8 (Rzent o1f<)
(b) Np/O; (@) wjfe
(c) 02/CO (b) R
(d) COz/ 0 (c) FIAT A R
e TS (RQ) R (d) @G T A
" (a) /N (e) TS PR
(b) No/O, IRCEEESHCIES
(c) O,/CO; 7. (g) JETREIF IEGS &J
(d) COy/ 0, (h) Tan FrCers Tfen
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3.

‘Write short notes on the following: (any
three)

(a) Components of water potential

(b) Cohesion of water and transpiration
pull theory :

(c_') Photorespiration
(d) Mechanism of enzyme action

(6) Auxins

"~ (f) Anaerobic respiration

(g) Vernalization

(h) CAM -

e fralaie by (Bl el ¢ (i oy
() CERCTE CAMTTZ

(b) N AHE AT 2T o7 T

(c) ST

(d) ez feaiRia
(e) SIS

() SRe Y

(g) TR

(h) CAM
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9x3=15 -
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Answer any three of the following

questions : 10x3=30

o R o5 2 Tae = ¢

(a) What are different sources of nitrogen
for higher plants ? Describe the
biological nitrogen fixation. =~ 2+8=10

T T T FRBEeR [ioq PR
e T iRGre FRfeseR R <t =11

(b) What is translocation of organic solute ?
Describe the mechanism of
translocation of organic solute in plants
with the help of pressure flow model.

o7 7 SARA 2 pidl IR TER AR
Sore (o7 T AR ef@mt 3 =i

(c) Describe different types of factors
affecting the photosynthesis.

AEAPRETIT SR (oAl fen oF"

FRTE I 0
(d) What 1is photosynthesis ? Give a
detailed account of cyclic and non-cyclic

electron transport in photosynthesis.
2+4+4=10
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(e)

(g)

(h)

AT 52 Wémﬁa w?m )G
SbeE R 3ERe PR Raca =iz e

Describe the chemical process of EMP
pathway. Write about net product of

EMP pathway. 8+2=10
EMP 3 SP1RE @diett 90 90 i EMP
AelieTia 0 SR [Ec e

Give a detailed account of the Krebs
cycle. Mention its significance.

(& berCoi e Raet Tl | 331 wies il e
A | |
What is photoperiodism ? Discuss how
the plants are classified on the basis of
photoperiodism. 2+8=10
e afefe e MR afs mem
R eome {67 3R Tiownes fwe
(TP 1 (R ST 791 |

What is plant growth regulator ?

Discuss the physiological -role of
Gibberellins in plants.

S Jfa FREs 2 Sfews RerifRfems 915 :

QWWWI

3 (Sem-3/CBCS) BOT HG/RC/G 10

OPTION-B
( Environmental Biotechnology)
~ Paper : BOT-HG-3026

Answer the following as directed : (any
seven) 1x7=7
o s Fesie s s ol ¢ (Remra
TebY)

(@) Which one of the following is not a
natural pollutant ? -

) SO,

(i) CO

(i) CO,

(iv) Pesticides

) SO,

(i) CO

(i) CO,

(iv) FOAE
(b) What is the full form of DDT ?
. DDTA ol i {52

(c) In which year the UNESCO launched
the ‘Man and Biosphere Programme’ ?
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U"NESCO 3 @ T WE O (SEwess | (g) Lignosulfonates are released from
G ey R industry. (Fill in the blank)
] ; | , RS BT GG ot Al Fofe = |
- (d) Minamata disease caused due to ! ;
pollution. (Fill in the blank) - _ (171 IR 739 #3)
T g ' e A 2 | (h) What is ozone ? - i
il S (157 HZ 779 70) oy &
uhs . Al s DU R S de B () Which one of the following is a unit of
% biofertilizers. R ' | 5 ‘ ;jdloacuth i
‘ : i) ppm
e R i IR T qRY @CIRAN AN () curic
o | (i) decibel
(/ Which one of the following is a ' [ (iv) nanometer
xenobiotic compound ? )
| e @R (ouiETe g e
(i)  Polychlorinated biphenyls J
(i) Peroxyacetyl nitrate () fetam
(iii) Chlorofluorocarbon ) T
(iv) Ultraviolet ray - | | - L (i) CohEE
e @0 @Rt omd = | (iv) RGR
(i) AFREGT AR | () Where is Chilika lake situated ?
(i)~ CoRfSIaibbizs MIEH | @i Size Bl g wriFe?
fii) T (k) Write the full form of WTO.
iv) SRS WTO I 5= i ferai|
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2. Write short answers :

Which one of the following is a Ramsar
‘site ?

() Kaziranga National Park

(i) Majulee River Island '

(iii) Deepor Beel

(iv) Brahmaputra River

B PR B I 2 B [fe?
() iERe G TR

(i) e T

(i) 7o e
(iv) TEE Tl

(any four) 2x4=8

ofe vt Tew fant ¢ (Reean b))

(@) Advantages and disadvantages of

(b)

(¢

aerobic ponds.

T #34TR ToRpIRTel W SeReTel Rl |

What is radionuclides ? Give one
example.

Afoafiois e 2 ¢t Tred ol
What do you mean by bioconcentration ?

TR M & g ?
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(@

(e)

(9)

Write a note on biomining.

A TEeE @ (G ol

Write a very short note on Brundtland

Report.
SoreTeN efewm TR oo 5T 4o (O
G

Principles of Forest Conservation Act,
1972.

W%WW (5%) I [ © @iﬂgﬁml

Silent Valley Movement.
TN THAGB S |

(h) Xylanases

GIREICACSD

Write notes on any three of the following :

e R fofbe esids G &l ¢

5x3=15

(a) Global environmental problems

2 2R TERIY TEIRE

(b) Upflow anaerobic sludge blanket
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reactors

RIS o ol ﬁm@%
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(c) Role of nitrogenous compounds in air
pollution

AGETE AW znq IS G

(d) Trickling filter
Bfork Reeoim

(e) Corporate social responsibility

() Salient features of Kyoto Protocol, 1997
W 2B (So5q) T 2UH AHRIRR

(g) Constitution of Central and State
* Pollution Control Boards

@R Ole AT e FEEe AR i
SlaeT! '

(h) Treatment scheme of waste water of
tannery industry

G TR AfEre sl SRt e

4. Answer any three of the following :
Rz fofab @%ia T feall ¢

(a) What is greenhouse effect ? Describe
the possible environmental effects of
global warming. Write briefly how
greenhouse effect can be minimized.

2+5+3~10
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(b)

(c)

(d)

FTeE 9z AR e [y Treeaem AW
siffee & & aer 9fa 2w Fll| GEE
m@*@ﬁﬂﬁﬂwﬂéﬁﬁﬁﬁmﬂamﬁm
Jofelt 4 |

What are pollutants ? Describe the fate
of different pollutants in the
environment. : 2+8=10

oS e st /fea Wﬁﬂ?ﬁs
3o =9

Describe the Montreal Protocol (1987).
How does it differ from recommendations
of Rio-Earth Sumit-UNCED (1992).

7+3=10
SFGE =B (Soba) It | Ty el pfirs-
UNCED (55%%) I *RImaei" (lte 2a=
@RS A Stz Bl |

What do you mean by sustainable
development ? Describe the impact of
sustainable development on gross
national productivity and quality of life.

2+8=10

e R G 1 e 2 e [ g
AT T W TRAS ATST €999
@A deifie A HAE I@e |
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(e) What are xenobiotic compounds ? How Environmental Policy, 2006.

TR AR N, 2000 THCE @b B! Al

does xenobiotic compound affect the

i ; _ ; )
-1 (h) Write dn essay on National
|
|
living organisms ? Give suggestive |

- measures to mitigate this p‘roblem
through bioremediation. 2+3+5=10 |

(SRR #mief Wit &2 oo smid @ie
GRE 89F0  (FEHFR ST FRT A2
AR [l G2 T @C-Wﬁ@'qsﬁa
gisELsiEIl

(f) Write a descriptive note on Water } ‘

Pollution (Prevention and Control) Act,

les1.

T el (efferaiy o fiEg) oz, sav
THE b "o (G & |

(g9 Describe briefly the role and
participation of women in

environmental issues in India.

OIS AR IR TP T S

IS SIRXIAT HHCH GG ] |
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